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以下為單選題，請於網路e學園作答：

7.3

1.
How many comparisons are needed for a binary search in a set of 64 elements?


a)
4

b)
6

c)
10

d)
14

2.
Suppose that f(n) =f(n/3)+1 when n is divisible by 3, and f(1) =1. Find f (729)?


a)
2

b)
4

c)
7

d)
10

3. 
Suppose that f(n) =f(n/5)+3n2 when n is divisible by 5, and f(1) =4. Find f (125)?


a)
1954
b)
3125
c)
48829
d)
122070
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4.
Find the coefficient of x10 in the power series of each of the function 1/(1-2x).


a)
11

b)
66

c)
1024

d)
20412

5.
Give a combinational interpretation of the coefficient of x4 in the expansion (1+x+x2+x3+…)3. Use this interpretation to find this number.


a)
6

b)
15

c)
28

d)
31

6.
How many elements are in A1(A2 if there are 12 elements in A1, 18 elements in A2, and A1(A2=(?

a)
18

b)
24

c)
29

d)
30
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7.
A survey of households in the United States reveals that 96% have at least one television set, 98% have telephone service, and 95% have telephone service and at least one television set. What percentages of household in the United States have neither telephone service nor a television set?


a)
1%

b)
4%

c)
12%

d)
25%

8.
Find the number of elements in A1(A2(A3 if there are 100 elements in each set and if there are 50 common elements in each pair of sets and no elements in all three sets.


a)
0

b)
100

c)
150

d)
175

9.
Find the number of positive integers not exceeding 100 that are either odd or the square of an integer.


a)
10

b)
50

c)
55

d)
60
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10.
Suppose that in a bushel of 100 apples there are 20 that have worms in them and 15 that have bruises. Only those apples with neither worms nor bruises can be sold. If there are 10 bruises apples that have worms in them, how many of the 100 apples can be sold?


a)
100

b)
75

c)
20

d)
10

11.
How many ways are there to distribute six different toys to three different children such that each child gets at least one toy?


a)
540

b)
730

c)
1854
d)
2080


12
In how many ways can seven different jobs be assigned to four different employees so that each employee is assigned at least one job and the most difficult job is assigned to the best employee?

a)
1400

b)
2100

c)
8400

d)
12400

